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I agree with the idea that elementary
school children have their cellphone.
Japanese children often play outside late.
In Japan, many kinds of accidents happen.
<conj_er> Also/And <pron_er> the number
of accidents is/they are on the increase in

Many

number. If <pron_er> children/they have
their own cellphone, they can be touch
with their parents easily. Their life can be
protested by <art_er> null cellphones/the
cellphone. <conj_er> Furthermore/And then,
cellphone give us some useful games, such
as test of kanji and test of English words.
I think that <pron_er> children/they like
<demo_er> these kind of games/it.
er> because/Because they can study <art_er>
while playing a game/like sense of game.
<pron_er> Children/They can study by using
cellphone.
<demo_er> the idea that elementary school

<conj_

<conj_er> null/So, 1 agree with

children should have their own cellphones/
the idea.
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% A 7 Do you agree or disagree with the
idea that elementary school children should
have their own cellphone? Give two possible
reasons in 80-100 English words.
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I agree with the idea that elementary
Many
Japanese children often play outside late. In
Japan, many kinds of accidents happen. And
If they
have their own cellphone, they can be touch

school children have their cellphone.

they are on the increase in number.
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with their parents easily. Their life can
be protested by the cellphone. And then,
cellphone give us some useful games, such
as test of kanji and test of English words.
I think that they like it.
study like sense of game.
by using cellphone. So, I agree with the
idea. (100 words)

AR

I agree with the idea that elementary school

Because they can
They can study

children should have their own cellphones.
Many Japanese children often play outside
late. In Japan, many kinds of accidents
happen. Also the number of accidents is
on the increase. If children have their own
cellphones, they can be in touch with their
parents easily. Their lives can be protected
by cellphones. Furthermore, cellphone
have some useful games such as kanji test

and games that test English vocabulary.
I think that children like these kind of
games because they can study while
Children can study by
using cellphones. I agree with the idea that

playing a game.

elementary school children should have
their own cellphones. (112 words)
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number of crimes before the death penalty
had been done away with. T it 7% <, the
number of crimes actually decreased after
the death penalty had been done away
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BBV ETHB.
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Do you think that Japanese universities
should shift undergraduate enrollment from
spring to autumn in order to be in line with
colleges worldwide? Give your opinion in an

7

essay around 100 words. Your essay must
consist of three paragraphs according to the
following instructions:

a) In the first paragraph of the essay,
express your opinion.

b) In the second paragraph, give your
reasons to support your opinion.

¢) In the last paragraph, sum up your main

points in conclusion.
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